RIGOUR

) MTH 3-13a Homework 5 Silver Level v
Outcome 1 Outcome 2
Sequences Linear Patterns
Write down the next two For the following tables...
numbers in the following
sequences... «  Write down a rule

« Complete the table

60, 100, 140, ... 500, 1400, 2300, ..
% 60,100, 140, b | friangles (M (1] 2 | 3 | 413

matchsticks (M) (3| B | 7 |?2]| ?

o 40,110,180,.. g 800,1300, 1800, ..
&| pentagons (P) & | 1| 2| 3 | 4|27
5 50,110,170,.. g 700,1500,2300,..| L ":cfbolts® |5]9]13)?] ?
S no.of panels(P) (2| 3| 4 5| 39
Z 180,150,120,.. 8 620,520,420, .. shelves (S) g2 4] 7|10 [2] 2
no.ofboxes(B) |11 2| 3 (4] 45

8 660 640,620, .. 48 750 630,510, | , o)
Trophles(T)ﬁ"’ 41 6| 8 |2 ?
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